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RESPUESTAS ESTATICA

F=299 (KN) ; ¢ = 6% <Z(p
F
F
Ao
F=19972(N) ; ¢=41°
a)F = 2588 (N) ; b)Fx = 22,41 (N)

&
)
1

40,3° ;b)F = 252 (N)

F=2277 (N) ; 0

E
a)F = 17320 (N) ; ¢ = 3526° A'(ﬂ.

b) M, = — 300k (N-m) ; M, =— 382,84 k (N-m)

60°

F =75 (N) ()
a) F=120,48 i + 654,09 ] (N)
b) M, = 380,98 k (N-m)

0 = 120°

e =1y F=+2P

El bloque desliza hacia abajo vy fr = 240 (N)
a=60° y B =30°

P=160 (N) vy Tae =804/3 (N)

h =36 (cm)

Si esta en equilibrio y fz =10 (N)

2 2
N=Rp y Tpe = LH +R%p
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Tac = 167 (N) ; No = 1336 (N)
M=6 (N-m) (U)

_(R+1)

- R
F = rP y Q T P
Tzﬁ"P y NBz“o’LP
16h 8h
A= 1(m)
F = 1,15 (Ton)
La barra esta en equilibrio y fr = 0,22P
-1
Q = 27,82 (N)
0 = 28,96°
_ /3
M—T
F=./3P
szgP (=) Ay:lP (V)
E, = /3P (€) ; Ey=%P (V)

F=(/3-1)P (V)

6 = 30°
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